Fitting instruction Crash-Pads Kawasaki ZX-6R/RR 05 - ‘06 Part.no.: 550K107.1

Important: If you are not a trained motorcycle mechanic stop now. Ask a local motorcycle shop to

do the work for you.

Please take extra care!
You have to mount the crash-pads one side after the other! Do not loose more then one engine

mounting bolt at the same time!
The tightening torques refer to the manufacturer’s instructions!
The cowling remains unmodified!

Fitting of the right side:

(View from the rear)

z:i_?inal frame/ front engine mounting point
engine
/ spacer =38mm
A7 7

M107<1.85x130

=1 Fr i ==

Fitting of the left side:
(View from the rear)

engine
frame/ front engine mounting point

Crash Pad Adapterplate
(identification ‘K107

original
spacer |=63mm nut
M10x1 25x100 \ <

E_

M10x1.25x60

=
LSL

MAKING GOOD BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.lsl.eu

Stand: 26.10.2006 driving direction "touch
direction down" area




Instructions de montage des Crash-Pads pour

N° article : 550K107.1

Important: Le montage doit étre fait par un professionnel!

Le montage des Crash-Pads s’effectue d’abord d’'un coté et ensuite de
l'autre! Il faut éviter le desserrage simultané des deux vis tenant le moteur!
Utilisez les couples de serrage préconisés par le constructeur!

Le carénage reste inchangé!

Montage cé6té droit:

(Vue arriére)

Ecrou d’origine

Cadre / fixation moteur avaont

Moteur

/ / Douille (=38mm

Montage c6té gauche:
(Vue arriére)

M10x1.25x130

/L
=

Moteur

Cadre/ fixation moteur ovant

Plaque d‘adaptation pour
Crash Pad; réf.: “K107°

Douille (=65mm

M10x1.25x100

N\

M10x1.25x60

= Hb i H E =

Ecrou d’origine

\\
5SS

LSL

MAKING 600D BIKES PERFECT

Paaschburg & wunderlich GmbH - D-21509
www.Isl.eu

Stand:07.03.2007

Sens de la
marche

Position surface
de contact




Anbauhinweise fir Crash-Pads Kawasaki ZX-6R/RR "05 - ‘06 Art.Nr.: 550K107.1

Wichtig: Wenn Sie kein ausgebildeter Mechaniker sind, wenden Sie sich bitte an eine Fachwerkstatt.
Bitte unbedingt vor dem Anbau beachten:

Die Montage der Crash-Pads muss seitenweise erfolgen!

Das gleichzeitige L6sen der beiden Motorhalteschrauben ist zu vermeiden!

Anzugsdrehmomente It. Herstellerangaben!

Verkleidungsseitenteile brauchen nicht ausgespart oder gebohrt werden!

Anbau rechte Seite:
(Ansicht von hinten)

ﬁ:fﬁgﬁ Rahmen / vordere Motorbefestigung

Motor

//// Buchse (=38mm
/ / /
i _}_ /_ M107</1.85x130

Anbau linke Seite:
(Ansicht von hinten)

Motor
Rahmen/ vordere Motorbefestigung

Crosh Pad Adapterplatte
(Kennzeichnung “K107">

original
Buchse =63mm Mutter
M10x1.25x100 S
{EE \\
M10x1.25x60 dJ
r—— A\
I_ :\ [
MMWBBWHMHSHHHM-
Paaschburg & Wunderlich GmbH - D-21509
www.lsl.eu
) Ausrichtung
Stand:26.10.2006 Fahrtrichtung Schleifflache




	550K107_1 english
	Model

	550K107_1 french
	Model

	550K107_1 german
	Model


